

MARCH 17, 2021 HEARINGS

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs.

BREWER ROOFING, LLC

ORDER

The Committee voted unanimously that the license of BREWER ROOFING LLC is revoked for misconduct. BREWER ROOFING LLC shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs.

JUSTIN BREWER, D/B/A AA ROOFING CONSTRUCTION

ORDER

The Committee voted unanimously that JUSTIN BREWER, d/b/a AA ROOFING CONSTRUCTION shall pay a civil penalty of \$400 per day for 27 days of activity for a total of \$6,800 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against JUSTIN BREWER, d/b/a AA ROOFING CONSTRUCTION to prevent them from performing work in violation. JUSTIN BREWER, d/b/a AA ROOFING CONSTRUCTION shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs.

ASHLEY'S HOME IMPROVEMENTS, LLC

ORDER

The Committee voted unanimously that ASHLEY'S HOME IMPROVEMENTS LLC shall pay a civil penalty of \$400 per day for 20 days of activity for a total of \$8,000 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against ASHLEY'S HOME IMPROVEMENTS LLC to prevent them from performing work in violation. ASHLEY'S HOME IMPROVEMENTS LLC shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs.

COLBY TYLER ROBERTS

ORDER

The Committee voted unanimously that the license of COLBY TYLER ROBERTS is revoked for misconduct. COLBY TYLER ROBERTS shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs.

SHAWN WILLIAMS, D/B/A WILLIAMS REMODELING

ORDER

The Committee voted unanimously to revoke the license of SHAWN WILLIAMS, d/b/a WILLIAMS REMODELING for misconduct. SHAWN WILLIAMS, d/b/a WILLIAMS REMODELING shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs.

MARK HARDY

ORDER

The Committee voted unanimously that MARK HARDY shall pay a civil penalty of \$400.00 per day for 65 days of activity for a total of \$26,000 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against MARK HARDY to prevent them from performing work in violation. MARK HARDY shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs.

KEVIN COLVIN, D/B/A KC STEEL

ORDER

The Committee voted unanimously that KEVIN COLVIN, d/b/a KC STEEL shall pay a civil penalty of \$400.00 per day for 58 days of activity for a total of \$23,200 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against KEVIN COLVIN, d/b/a KC STEEL to prevent them from performing work in violation. KEVIN COLVIN, d/b/a KC STEEL shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs.

KAWAUN WATSON

ORDER

The Committee voted unanimously that KAWAUN WATSON shall pay a civil penalty of \$400.00 per day for 30 days of activity for a total of \$12,000 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against KAWAUN WATSON to prevent them from performing work in violation. KAWAUN WATSON shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs.

STEPHEN RAST, D/B/A R & B DESIGN AND LAWN CARE AND S & R DESIGN/LAWN CARE

ORDER

The Committee voted unanimously that STEPHEN RAST, d/b/a R & B DESIGN AND LAWN CARE AND S & R DESIGN/LAWN CARE shall pay a civil penalty of \$400.00 per day for 29 days of activity on both projects for a total of \$11,600 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against STEPHEN RAST, d/b/a R & B DESIGN AND LAWN CARE AND S & R DESIGN/LAWN CARE to prevent them from performing work in violation. STEPHEN RAST, d/b/a R & B DESIGN AND LAWN CARE AND S & R DESIGN/LAWN CARE shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs.

DARRON SHELBY, D/B/A YOUR WAY CONSTRUCTION, LLC

ORDER

The Committee voted unanimously that DARRON SHELBY, d/b/a YOUR WAY CONSTRUCTION, LLC shall pay a civil penalty of \$400.00 per day for 50 days of activity for a total of \$20,000 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against DARRON SHELBY, d/b/a YOUR WAY CONSTRUCTION, LLC to prevent them from performing work in violation. DARRON SHELBY, d/b/a YOUR WAY CONSTRUCTION, LLC shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs.

GREG SMITH, D/B/A SMITH & BLANCHARD CONSTRUCTION, LLC

ORDER

The Committee voted unanimously that GREG SMITH, d/b/a SMITH & BLANCHARD CONSTRUCTION, LLC shall pay a civil penalty of \$400.00 per day for 12 days of activity for a total of \$4,800 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against GREG SMITH, d/b/a SMITH & BLANCHARD CONSTRUCTION, LLC to prevent them from performing work in violation. GREG SMITH, d/b/a SMITH & BLANCHARD CONSTRUCTION, LLC shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs.

DON LACKEY

ORDER

The Committee voted unanimously that DON LACKEY shall pay a civil penalty of \$400.00 per day for 15 days of activity for a total of \$6,000 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against DON LACKEY to prevent them from performing work in violation. DON LACKEY shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs.

JESSE MARTIN, D/B/A FREET ROOFING

ORDER

The Committee voted unanimously that JESSE MARTIN, d/b/a FREET ROOFING shall pay a civil penalty of \$400.00 per day for 23 days of activity on the two projects for a total of \$9,200 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against JESSE MARTIN, d/b/a FREET ROOFING to prevent them from performing work in violation. JESSE MARTIN, d/b/a FREET ROOFING shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs.

DANIEL GARCIA, D/B/A WORLD CLASS ROOFING

ORDER

The Committee voted unanimously that DANIEL GARCIA, d/b/a WORLD CLASS ROOFING shall pay a civil penalty of \$400.00 per day for 5 days of activity for a total of \$2,000 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against DANIEL GARCIA, d/b/a WORLD CLASS ROOFING to prevent them from performing work in violation. DANIEL GARCIA, d/b/a WORLD CLASS ROOFING shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

SETTLEMENT AGREEMENTS

14088 LOUIS WILLIAMS DBA - WILLIAMS CONSTRUCTION \$200.00
40188 EAGLE CARPORTS, INC. \$200.00
48830 JEFF GRAY DBA - SENTINEL CONSTRUCTION \$20,000.00 reduced to \$600.00 if no further violations for 3 years; pay any judgment; pay penalty as agreed
7646 RANDY BLAKE DBA - BLAKE AND SON CONSTRUCTION & B AND S POOLS \$12,000.00 reduced to \$1,200.00 if no further violations for 3 years, pay any judgment, pay penalty as agreed
47904 JIM BEAVERS \$3,000.00 reduced to \$200 if no violations for 3 years; pay penalty as agreed
48582 DAVID MORGAN \$12,000.00 reduced to \$300.00 if no further violations for 3 years and pay this penalty as agreed
48657 DANNY MORGAN \$12,000.00 reduced to \$300.00 if no further violations for 3 years and pay this penalty as agreed
12076 CHARLES R. LENDERMAN DBA - LENDERMAN CONSTRUCTION \$4,000 reduced to \$300 if no further violations for 3 years; pay any judgment; pay as agreed
48838 KENNETH WEAVER \$4,000.00 reduced to \$300.00 if no further violations for 3 years, pay penalty as agreed
48839 GREG SMITH DBA - SMITH & BLANCHARD CONSTRUCTION, LLC \$400.00 per day for 12 days and cease and desist
37237 JUAN B. MARTINEZ-SANCHEZ \$18,000.00 reduced to \$400.00 if no further violations for 3 years, pay any judgment, pay penalty as agreed